Manuals+ — User Manuals Simplified.

5

83A- |

196V80

Basic Fabric =

Cutting L _;!

Table " Ed

HOMCOM 83A-196V80 Basic Fabric Cutting Table Instruction
Manual

Home » HOMCOM » HOMCOM 83A-196V80 Basic Fabric Cutting Table Instruction Manual ™

Contents
1 HOMCOM 83A-196V80 Basic Fabric Cutting
Table
2 Precaution
3 Operation Instructions
4 Parts
5 Hardware
6 Installation
7 Contact
8 Frequently Asked Questions
9 Documents / Resources
9.1 References

/N
IMCOW

HOMCOM 83A-196V80 Basic Fabric Cutting Table


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/homcom
https://manuals.plus/homcom/83a-196v80-basic-fabric-cutting-table-manual.pdf
https://manuals.plus/#homcom_83a-196v80_basic_fabric_cutting_table
https://manuals.plus/#precaution
https://manuals.plus/#operation_instructions
https://manuals.plus/#parts
https://manuals.plus/#hardware
https://manuals.plus/#installation
https://manuals.plus/#contact
https://manuals.plus/#frequently_asked_questions
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Precaution

=)
Jije| % Bk g X

e

-
. »

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

Operation Instructions

« Please confirm that all components are present before beginning assembly.

« For the protection of your furniture, place all parts on a clean and smooth surface to prevent any damage.
« Please assemble the furniture with 2 person or more.

« Do not confuse similar screws.

« Do not tighten bolts fully until all parts are connected!

« Please periodically check all fitting and re-tighten as necessary.

EXPLOSION FIGURE






Hardware

________________________

M&*20

AR}

+1 (spare)

________________________

M&*50

B2

........................

________________________

........................

+1 (spare)

X 2
@15*10

........................

M6*30 |

+1 (spare)

M6*55 |

+2 (spare)

MB*35
+1 (spare)

M6
+1 (spare)

M4*12
+1 (spare)

__________________________________

Installation



E | x8

(oI TADTTOATELTELD)

M6x55

C l x2 E l x2 = ] x4
Oy (@I D
M6x35 M6x55 M6




[T/

4x12




x4

B

|

M6x30
| x2

W)

(o) TECIEITTEIIONRIEID

M6x50







Contact

us

« If you have any questions, please contact our customer care center.



« Our contact details are below:

« 001-877-644-9366

« customerservice@aosom.com

« Imported by Aosom LLC

« 27150 SW Kinsman Rd Wilsonville, OR 97070 USA
MADE IN CHINA

CA

« If you have any questions, please contact our customer care center.
« Our contact details are below:

« 416-792-6088

« customerservice@aosom.ca

« Imported by Aosom Canada Inc.

o 7270 Woodbine Avenue, Unit 307, Markham,

« Ontario Canada L3R 4B9

« MADE IN CHINA

UK

« If you have any questions, please contact our customer care center.
« Our contact details are below: 0044-800-240-4004
« enquiries@mbhstar.co.uk
« IMPORTER ADDRESS:
o MH STAR UK LTD Unit 27, Perivale Park, Horsenden Lane SouthPerivale, UB6 7RH
« MADE IN CHINA

Frequently Asked Questions

« Q: How many people are recommended for assembling the furniture?
o A: ltis recommended to assemble the furniture with at least 2 persons to ensure proper assembly and
safety.
« Q: What should | do if | have spare screws left after assembly?
o A: Spare screws are provided for your convenience in case of loss or damage to any original screws. You
can keep them for future use or discard them safely.
« Q: How often should I check the fittings of the furniture?
o A:ltis advisable to periodically check all fittings and re-tighten them as necessary to maintain the stability

and integrity of the furniture over time.

Documents / Resources


https://phone.gd/phone/877-644-9366
mailto:customerservice@aosom.com
https://phone.gd/phone/416-792-6088
mailto:customerservice@aosom.ca
https://phone.gd/phone/800-240-4004
mailto:enquiries@mhstar.co.uk

I

HOMCOM 83A-196V80 Basic Fabric Cutting Table [pdf] Instruction Manual
83A-196V80 Basic Fabric Cutting Table, 83A-196V80, Basic Fabric Cutting Table, Fabric Cutting

Table, Cutting Table

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/2a1f5f0746d22ce2f879a4e7167228758e2b32a3c260b3397f11e9b0ad79a384
https://manuals.plus/m/2a1f5f0746d22ce2f879a4e7167228758e2b32a3c260b3397f11e9b0ad79a384_optim.pdf
https://manual.tools/?p=16520084#MTY3LjcxLjg0LjkyOzs7Ow==
https://manuals.plus/
https://manuals.plus/privacy-policy

	HOMCOM 83A-196V80 Basic Fabric Cutting Table Instruction Manual
	HOMCOM 83A-196V80 Basic Fabric Cutting Table
	Precaution
	Operation Instructions
	Parts
	Hardware
	Installation
	Contact
	Frequently Asked Questions
	Documents / Resources
	References



